
R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES FINISHES

ANODIZED
ALUMINIUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL11-A (-S)

FL14-S

FL12.1Q-A (-S)

FL14T-S

FL15-S FL16-S

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

X

X

PAGE 5

1.00

3.50

0.25

X

1.00

2.00

0.25X

0.25

1.50

3.00

X

X

1.50

3.00

0.25

n3.00

0.25

n3.50

0.25

a subsidiary of Mercury Aircraft
1135 NW 159 Dr., Miami, Florida 33169

Tel: (305) 625-2451 or (800) 762-7565 • Fax: (305) 623-0475

AT SERIES FOOD SHIELDS

®

 B SURFACE

 A FLANGE

SURFACE THICKNESS 

  T= _______ (*) 

OPTION S1  o

OPTION S2 o

Flange  A  attaches 
directly to countertop 
surface B

 A FLANGE

 B SURFACE

 C UNDERLAY

SURFACE THICKNESS 

  T1 = ________ (*) 

UNDERLAY THICKNESS 

  T2 = ________ (*) 

Flange  A  attaches
to underlay C and
passes through 
countertop surface B

BASIC SURFACE MOUNT OPTIONS

FLANGE OPTIONS FOR S1 & S2:

o FL1-S   o FL2-S   o FL2.1-S   o FL2N-S   o FL2P-S o FL4.1Q-A
o FL5.1Q-A   o FL5R.1Q-A   o FL5.10-A o FL5.20-A   o FL5CB-A
o FL5.33-A   o FL5.33H-A   o FL11-A   o FL14-S o FL15-S
o FL16-S   o FL23-S

                      Copyright 2009  

Versa-Gard,LLC - 1094 Parkway Industrial Park Drive, Buford, GA 30518   678-730-4155   www.versa-gard.com

(* Please provide Countertop thickness)

(* Please provide Countertop and Underlay thickness)

 B SURFACE

 A FLANGE

SURFACE THICKNESS 

  T= _______ (*) 

OPTION S1  o

OPTION S2 o

Flange  A  attaches 
directly to countertop 
surface B

 A FLANGE

 B SURFACE

 C UNDERLAY

SURFACE THICKNESS 

  T1 = ________ (*) 

UNDERLAY THICKNESS 

  T2 = ________ (*) 

Flange  A  attaches
to underlay C and
passes through 
countertop surface B

BASIC SURFACE MOUNT OPTIONS

FLANGE OPTIONS FOR S1 & S2:

o FL1-S   o FL2-S   o FL2.1-S   o FL2N-S   o FL2P-S o FL4.1Q-A
o FL5.1Q-A   o FL5R.1Q-A   o FL5.10-A o FL5.20-A   o FL5CB-A
o FL5.33-A   o FL5.33H-A   o FL11-A   o FL14-S o FL15-S
o FL16-S   o FL23-S

                      Copyright 2009  

Versa-Gard,LLC - 1094 Parkway Industrial Park Drive, Buford, GA 30518   678-730-4155   www.versa-gard.com

(* Please provide Countertop thickness)

(* Please provide Countertop and Underlay thickness)
R

R

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISH FINISH

FINISH FINISH

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL4.1Q-A

FL5B.1Q-A

FL5.1Q-A

FL5R.1Q-A

FL5.10-A FL5.20-A

X

X

X

X

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

1.50

3.00

0.25

1.50

3.00

0.25

1.50

3.00

.19

10°

PAGE 2

1.50

3.00

0.1920°

n2.75
0.25

1.50

3.00

0.25

THIS FLANGE IS ONLY TO BE USED ON
UNITS WITH A TABLE-LIKE STRUCTURE

Finish:
☒ Anodized Aluminum
☒ Powder Coat
☐ Stainless Steel

R

R

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISH FINISH

FINISH FINISH

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL4.1Q-A

FL5B.1Q-A

FL5.1Q-A

FL5R.1Q-A

FL5.10-A FL5.20-A

X

X

X

X

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

1.50

3.00

0.25

1.50

3.00

0.25

1.50

3.00

.19

10°

PAGE 2

1.50

3.00

0.1920°

n2.75
0.25

1.50

3.00

0.25

THIS FLANGE IS ONLY TO BE USED ON
UNITS WITH A TABLE-LIKE STRUCTURE

Finish:
☒ Anodized Aluminum
☒ Powder Coat
☐ Stainless Steel

R

R

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISH FINISH

FINISH FINISH

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL4.1Q-A

FL5B.1Q-A

FL5.1Q-A

FL5R.1Q-A

FL5.10-A FL5.20-A

X

X

X

X

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

1.50

3.00

0.25

1.50

3.00

0.25

1.50

3.00

.19

10°

PAGE 2

1.50

3.00

0.1920°

n2.75
0.25

1.50

3.00

0.25

THIS FLANGE IS ONLY TO BE USED ON
UNITS WITH A TABLE-LIKE STRUCTURE

Finish:
☒ Anodized Aluminum
☒ Powder Coat
☐ Stainless Steel

Finish:
☐ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES FINISHES

ANODIZED
ALUMINIUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL11-A (-S)

FL14-S

FL12.1Q-A (-S)

FL14T-S

FL15-S FL16-S

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

X

X

PAGE 5

1.00

3.50

0.25

X

1.00

2.00

0.25X

0.25

1.50

3.00

X

X

1.50

3.00

0.25

n3.00

0.25

n3.50

0.25

Finish:
☐ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES FINISHES

ANODIZED
ALUMINIUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL11-A (-S)

FL14-S

FL12.1Q-A (-S)

FL14T-S

FL15-S FL16-S

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

X

X

PAGE 5

1.00

3.50

0.25

X

1.00

2.00

0.25X

0.25

1.50

3.00

X

X

1.50

3.00

0.25

n3.00

0.25

n3.50

0.25

Finish:
☐ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES FINISHES

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL1-S

FL2.1-S

FL2-S

FL2N-S

FL2P-S FL3-B

X

X

X

X

X

X

XX

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

n2.75

n1.00

1.75

  S/S SET SCREWS

1.75

1.88

3.25

n1.00

  S/S SET SCREWS

  S/S SET SCREWS
  S/S SET SCREWS  

3.25

1.88

n1.00

1.44

3.25

n1.00

1.751.75

0.25

2.00

3.25

n2.38

n1.00

1.00

PAGE 1

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES FINISHES

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL1-S

FL2.1-S

FL2-S

FL2N-S

FL2P-S FL3-B

X

X

X

X

X

X

XX

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

n2.75

n1.00

1.75

  S/S SET SCREWS

1.75

1.88

3.25

n1.00

  S/S SET SCREWS

  S/S SET SCREWS
  S/S SET SCREWS  

3.25

1.88

n1.00

1.44

3.25

n1.00

1.751.75

0.25

2.00

3.25

n2.38

n1.00

1.00

PAGE 1

Finish:
☐ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES FINISHES

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL1-S

FL2.1-S

FL2-S

FL2N-S

FL2P-S FL3-B

X

X

X

X

X

X

XX

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

n2.75

n1.00

1.75

  S/S SET SCREWS

1.75

1.88

3.25

n1.00

  S/S SET SCREWS

  S/S SET SCREWS
  S/S SET SCREWS  

3.25

1.88

n1.00

1.44

3.25

n1.00

1.751.75

0.25

2.00

3.25

n2.38

n1.00

1.00

PAGE 1

Finish:
☐ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

SURFACE 2  ☐

SURFACE 1  ☐

A1
A2
A3

A1

A2

A3

S1

S2

S3

S4

S5

Aluminum and
Powder Coat Finishes

▲ S1
S2
S3
S4
S5

Stainless Steel and
Powder Coat Finishes

▲

Copyright © Versa-Gard, 2010

Mounting Hardware:
Surface 

Mounting Options



B SURFACE

A FLANGE

(*  Please specify Countertop thickness)

A FLANGE

B SURFACE

C BOTTOM FLANGE 

BASIC CONCEAL MOUNT OPTIONS

C BOTTOM FLANGE D 3/8" S/S BOLT TYP.

D 3/8" S/S BOLT TYP.

SURFACE THICKNESS 

T= __________ (*) 

UNDERLAY THICKNESS  

T2= __________ (*)

SURFACE THICKNESS  

 T1= __________ (*)  

                      Copyright 2009  

Versa-Gard,LLC - 1094 Parkway Industrial Park Drive, Buford, GA 30518   678-730-4155   www.versa-gard.com

OPTION C1  o

OPTION C2  o

(*  Please specify Countertop and Underlay thickness)

FLANGE OPTIONS FOR C1 & C2:

A FLANGE OPTIONS
o FL3-B o FL5B.1Q-A   o FL7-15A   o FL7-25A   o FL7T-15A   
o FL7T-25A   o FL14T-S

C FLANGE OPTIONS
o FL4.1Q-A   o FL5.1Q-A   o FL5B.1Q-A   o FL5R.1Q-A   o FL7-15A
o FL7-25A   o FL11-A   o FL14-S

AT SERIES FOOD SHIELDS

®

CONCEALED 1  ☐

C1
C2

Stainless Steel
Aluminum and
Powder Coat Finishes

▲

Copyright © Versa-Gard, 2010

a subsidiary of Mercury Aircraft
1135 NW 159 Dr., Miami, Florida 33169

Tel: (305) 625-2451 or (800) 762-7565 • Fax: (305) 623-0475

C1

C2

C3

B SURFACE

A FLANGE

(*  Please specify Countertop thickness)

A FLANGE

B SURFACE

C BOTTOM FLANGE 

BASIC CONCEAL MOUNT OPTIONS

C BOTTOM FLANGE D 3/8" S/S BOLT TYP.

D 3/8" S/S BOLT TYP.

SURFACE THICKNESS 

T= __________ (*) 

UNDERLAY THICKNESS  

T2= __________ (*)

SURFACE THICKNESS  

 T1= __________ (*)  

                      Copyright 2009  

Versa-Gard,LLC - 1094 Parkway Industrial Park Drive, Buford, GA 30518   678-730-4155   www.versa-gard.com

OPTION C1  o

OPTION C2  o

(*  Please specify Countertop and Underlay thickness)

FLANGE OPTIONS FOR C1 & C2:

A FLANGE OPTIONS
o FL3-B o FL5B.1Q-A   o FL7-15A   o FL7-25A   o FL7T-15A   
o FL7T-25A   o FL14T-S

C FLANGE OPTIONS
o FL4.1Q-A   o FL5.1Q-A   o FL5B.1Q-A   o FL5R.1Q-A   o FL7-15A
o FL7-25A   o FL11-A   o FL14-S

B SURFACE

A FLANGE

(*  Please specify Countertop thickness)

A FLANGE

B SURFACE

C BOTTOM FLANGE 

BASIC CONCEAL MOUNT OPTIONS

C BOTTOM FLANGE D 3/8" S/S BOLT TYP.

D 3/8" S/S BOLT TYP.

SURFACE THICKNESS 

T= __________ (*) 

UNDERLAY THICKNESS  

T2= __________ (*)

SURFACE THICKNESS  

 T1= __________ (*)  

                      Copyright 2009  

Versa-Gard,LLC - 1094 Parkway Industrial Park Drive, Buford, GA 30518   678-730-4155   www.versa-gard.com

OPTION C1  o

OPTION C2  o

(*  Please specify Countertop and Underlay thickness)

FLANGE OPTIONS FOR C1 & C2:

A FLANGE OPTIONS
o FL3-B o FL5B.1Q-A   o FL7-15A   o FL7-25A   o FL7T-15A   
o FL7T-25A   o FL14T-S

C FLANGE OPTIONS
o FL4.1Q-A   o FL5.1Q-A   o FL5B.1Q-A   o FL5R.1Q-A   o FL7-15A
o FL7-25A   o FL11-A   o FL14-S

B SURFACE

A FLANGE

(*  Please specify Countertop thickness)

A FLANGE

B SURFACE

C BOTTOM FLANGE 

BASIC CONCEAL MOUNT OPTIONS

C BOTTOM FLANGE D 3/8" S/S BOLT TYP.

D 3/8" S/S BOLT TYP.

SURFACE THICKNESS 

T= __________ (*) 

UNDERLAY THICKNESS  

T2= __________ (*)

SURFACE THICKNESS  

 T1= __________ (*)  

                      Copyright 2009  

Versa-Gard,LLC - 1094 Parkway Industrial Park Drive, Buford, GA 30518   678-730-4155   www.versa-gard.com

OPTION C1  o

OPTION C2  o

(*  Please specify Countertop and Underlay thickness)

FLANGE OPTIONS FOR C1 & C2:

A FLANGE OPTIONS
o FL3-B o FL5B.1Q-A   o FL7-15A   o FL7-25A   o FL7T-15A   
o FL7T-25A   o FL14T-S

C FLANGE OPTIONS
o FL4.1Q-A   o FL5.1Q-A   o FL5B.1Q-A   o FL5R.1Q-A   o FL7-15A
o FL7-25A   o FL11-A   o FL14-S

CONCEALED 2  ☐ 
C3
 

Aluminum and
Powder Coat Finishes

▲

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FINISHES

S/S

POWDER COAT

ANODIZED
ALUMINUM

FL5.33-A

FL7-15A (-15S)

FL5.33H-A

FL7-25A

FL7T-15A (-15S)

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

2.00

2.75

33°

2.00

2.75

33°

PAGE 4

X

X

FL7T-25A

X

X

X

X

X
0.25

n1.50 n2.50

0.25

X0.25

n1.50 n2.50

0.25

Finish:
☒ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

R

R

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

FINISHES

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISHES FINISHES

FINISHES

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FINISHES

S/S

POWDER COAT

ANODIZED
ALUMINUM

FL5.33-A

FL7-15A (-15S)

FL5.33H-A

FL7-25A

FL7T-15A (-15S)

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

2.00

2.75

33°

2.00

2.75

33°

PAGE 4

X

X

FL7T-25A

X

X

X

X

X
0.25

n1.50 n2.50

0.25

X0.25

n1.50 n2.50

0.25

Finish:
☒ Anodized Aluminum
☒ Powder Coat
☒ Stainless Steel

R

R

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

FINISH

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

S/S

POWDER COAT

FINISH FINISH

FINISH FINISH

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

ANODIZED
ALUMINUM

FL4.1Q-A

FL5B.1Q-A

FL5.1Q-A

FL5R.1Q-A

FL5.10-A FL5.20-A

X

X

X

X

X

X

X

X

X

X

X

X

            Mounting & Support Hardware
Patent Pending

Hardware is supplied with the required fasteners in a matching finish

Ph:   678-730-4155
Fax:  678-730-4160

www.versa-gard.com
Copyright © 2006 Versa-Gard .  All rights reserved.
Patent Pending

1.50

3.00

0.25

1.50

3.00

0.25

1.50

3.00

.19

10°

PAGE 2

1.50

3.00

0.1920°

n2.75
0.25

1.50

3.00

0.25

THIS FLANGE IS ONLY TO BE USED ON
UNITS WITH A TABLE-LIKE STRUCTURE

Finish:
☒ Anodized Aluminum
☒ Powder Coat
☐ Stainless Steel

Mounting Hardware:
Concealed 

Mounting Options


